T7HE (2R

BREXyXavR

I7#E (O VR)
T ERXVFY—5

HSyh—REATT

SYAT NN Y—aVRBELT AT TP T4«

4 W4 4nxD 16. ImxH 6. Om HA4 X | W11.5mxD 12.0mxH 5. 5m HA4 X | W11.5mxD 12.0mxH 5. 5m HA4 X W 10.0mxD 7.6mxH 5. 6m HA4 X W 6. ImxD 9. 3mxH 6.0m H4 X W8 9mxD 8 9mxH 3.0m

i AR 13N EEAES 3A i AR 20N [EEAE 5A i AR 20N [EEAE 5A i A 13N EEAE YN Al 10N [(EEAE 2N Al 10N [(EEAE 2N

S 10Ax4 | 2ERAs 45 S 1bAx 4 | 258 45 S 10Ax 4 | 2EmAs 45 S 15A % 2 % JE 28 EiR 15A x 3 1 JE| = B 15A % 2 1% [E\ % 28
O—INTHFA X kLA >vavR )T LA45Y Ea—<ayvh

FA4 X ] W8 5mxD 12.0mxH 5 5m FA X ] W8 imxD 8 6mxH 6. 0m FA L [ W 11.5mxD 11 5mxH 5. 0m FA X ] W5 2mxD 9 2mxH 5 0m FA4 X ] WO imxD 8 2mxH 3. 7m T4 X | W6 8mxD 13 0nxH 5.6m
AL AB| 12X [E=AE] 3A AR 13X [@=AS] 3A *'Jm?)k%z 0N [BE)iE SA R AK| 10X [E=EAS] 3A AR 0L [EB=AE] 2A *‘Jﬁt)kéﬂt A [BEAE 4)k
=8 | 15Ax3 | ERE = T8 | 15Ax2 | ik & ToAx 3 | Atk T8 | 15Ax2 | Rk & =E | 10Ax2 | R % ToAx 3 | Atk
ARALA—YTLAI1N\—4 AR—ZAF vy X/IN\—% AR—RF vy X/8\—4H\Ver. 2 I25JD—JLA/8—4

IRIEZ VB

=
BED

YAX | W7.6mxD 12.2mxH 3.4m HAX | W7.0mxD 10.0mxH 5. 2m YA X | W7.6mxD 8 9mxH 7.6m HAX | W8 O0mxD 7.0mxH 7.5m YA X ] W8 OmxD 7.0mxH 7.0m HAX | W11.3mxD 11.3mxH 5. 5m

XA 15A |EEAS[ 2A XA 15A [BEAS] 2A XA 13A [EBEAS|] 4A XA 10A [BEAS] A XA 10N [EEAS| 2A XA 10N |[EEAS[ 3A

BR[| 15Ax4 | XEE = BB | 15Ax3 | XEE 3B B | 15Ax2 | XA =) BIRE | 15Ax3 | XREE = BIR [ 15Ax3 | XEE =) BR[| 15Ax3 [ XA =}
EvJ7Z<ILiIN—=9 JT—XT—7 T

A F)—IN—7 b—HAAXELAY

HAX [ W7.2mxD 7.0mxH 5. 2m YA X [ W25mxD 17.3mxH 4. 5m A X [ W8.2mxD 7.2mxH 5. 0m HA4 X | W10.0mxD 5.3mxH 4.0m HAX [ W7.0mxD 13.0mxH 4.8m A4 X | W53mxD 6.4mxH 4.9m
AR 1A [EEAS| 2A AR 1A [EEAS[ 3A AR 10N [EEAS| 3A AR 10N [EEAS[ 2A AR 12N [EEAS| 3A XA 8A |EEAE[ 2A
BIR | 15Ax2 | AR =) BIE | 156Ax2 | FEEEE =) BIE | 156Ax3 | FEEEE =) BIE | 156Ax2 | FEEHE =) BIR | 15Ax2 | AR =) FIR | 15Ax2 | XEHE =}




